1.

~ right description that best captureg
oyt s Wi MARGINALIA -
(1)  notes written in the margins of a hook oy
v/ documents you have read
(2)e people who have had an experience of
border countries and territories
(3  marked with pencil and drawn on the
roofs of public buildings
4  membersofa group who do not actually
fight but observe combat from outside

Choose the one meaning which hegt expresses

the idiom, Hobson's choice .

(1 asitiationin which you have al] choice
but if you accept the choice you forfeit
the right to choice again

(6)) a choice where your fortunes have already

been decided before you exercise the

choice

a choice which is a win-win situation for

parties involved in unlike business

a situation in which you have no choice

because if you don’t accept what is given,

you get nothing at all

6y
@

Improve the underlined phrase in the following
sentence with the help of given options :
Applications for this position should be filed by
next Saturday latest .
(1)  latest by Saturday next

v(2) next Saturday at the latest
(3)  next Saturday latest
(¥ latest next Saturday

Improve the underlined phrase in the following
sentence with the help of given options :
Raju seemed to be living at some remove from
reality.
\/(1) in aremove
(2)« atone remove
3 at certain remove
(4)  from some remove

Identify the part of the following sentence that
has/may have an error.
Roses grow with abundance against thig

) Ol
old wall in this season
i £3) (4)

PART -1/ . |
(1) General English / urarey 31T

6. Choose the word/phrase that gives the best
meaning of the word underlined in this
sentence :

Your findings are original but you haven't
familiarized yourself with the nomenclature
of the specimens.
¢ usesof
@)  valueof :

\/(3) system of naming thmgs
(4)  system of classifying things

1 Choose the word most nearly OPPOSITE in
meaning to the given word : DILATE
(1)  contract )  expand
(3) shrink @ abduct

8. Complete the following sentence by‘usingt the
correct form of the verb. Use the options given

below :
She was too nervous to speak before such a large
audience and
()  will be prompted
(@) hastobe prompted
(3% had to be prompted
@  wasprompted

9. Choose the description that best captures the

meaning of the word IN CORRIGIBLE :

1) Jhaving resilience and tenacity not
usually found in others

() displaying signs of fatigue and infection
in the body .

) having bag habits that cannot be
changed or Improved

showing extreme resistance to certain
types of food !

@y

10. Complete the followi
- correct form of the
given below -

I didn’t bring my wallet. Sine
to lunch I guessed yoy :
(D) wil have some money on youy
V12 Mmight haye had some money on you
(3) might given Some money
(9( had giyensome money
&i .

ng sentence by using the
verb. Use the options

€ you invited me

. 18A309

2 o ARG S5, g eI Yere
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PART -1/w9m -1
(2) General Hindi / wmrey fg=h

(8

. . Rwn? fedeam wodge
w "
(O S T :
@)  HIE o
(@), YR F THR
@  EA Y gem
12.  "HER w1 HaY Ry ey a2
M W wfgmum
@  UEEE gE s
@)  F Hiwym
@, A Frjo ufsmem
(£ (s & RO H W 6 WY
1" ;
Rt T % fow 3uga 91 81
@ A 2 Ew®
@ Togm @ YA
14, TEHE T % T H E B k- S
TG &7
@® ThAEA
@ =M H Hfed
(@ 9
@) e
15. el fie ! et 1 S T AL
€)) ERIERY
@ faeEU
3) A
(4 I

184309

16,

17.

18.

19.

20,

R T | Y e wiian ween

g

(1)  aegn @ s
(3)' WA 4) Yy
‘e’ w1 ot ared Al @

1 Mg @, Wi

@ o @) e

“ata gar wrdta d A Sl s setem
gy i’

Irfa A & IRy @l ey fererey W i
wefifa fepar &7

(1)  Secsrsit

@ 219

@ Y Fm A

@  gan v E9 A

a7ef e T STelt Te D T €

O @ ¥

@ @ W=

St el =1 TR ST | A R fihg TR dEE
2 3 refrEoT O AR Tes- e N w
(1, v Tem @ oIS

@) @ @ AN
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21.

22.

23.

24,

Where among the following has the world's | 91

largest solar park recently been inaugurated ?
(2) Delhi

()  Chennai
Karnataka

(3)  Mumbai 4

The introduction of economic and political | 22.

reform policies of Perestroika is associated with
which of the following political leader ?

(1)  Mikhail Gorbachev
(2)  Boms Yeltsin

(3)  Vladimir Putin

(4)  Nikita Khrushchev

Which of the following statements is not true, | 23.

regarding the ‘Brown Agenda’?

() Brown agenda deals with local issues of
the urban poor and the disadvantaged

(@  Brownagenda deals with environmental
issues, associated with urban and
industrial areas

(3)  Brown agenda deals with issues such as
pollution, waste disposal and the
provision of safe drinking water and
affordable housing

(49)  The emphasis of Brown Agenda is on
Inter-generational equity

One of the following is true about the Harappan #
script ;

(D It is written from lefy to right like the
Devanagari. :

@ Itisan alphabetic script.
(3)  Itisapictographic script.
‘ (4) It is comparable t, the Roman script

PART -1I / WTT- 11 =
(1) Gen. Knowledge And Current Affairs / 90T 311 7 woamafas e

Freferfan # & frm g e @ A favd &
Terdl =72 Tien I 1 S W TR Y

1 =% @ feest

@ g 4 FAeH
Wmﬁaﬁ%ammﬁﬁgmfﬁfmm
i e & A f T T % Y
Jeie?

q) fare TEEd

(@ =ifE AfeeEA

3)v =AEIA YiaT

@) fafFa gv=a

g el Fan § fretatad § 4 BE-w gy

| T &7 ; i

@ e usiEr wed i B gy
3 sfedl | S

@ 913 wEE ® g el s s
&30 %1 AT aHE g 2

@) 9IS TS B HE WU, - o
Y& TS FAHT 3R A6 S9em S
THEs | 2

@ %ﬁgm'ﬂmaﬁwmwmqm

|
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26.

27,

28.

29.

30.

: E:ﬁi;?g ((i)ixt’}elfofo.nowi’?g settlement pattern
regiong ? P In plain fertile agricultural
(1) Circulay
2 Rectangular
B By .

@  Linear

In vx-fhich pPopulation
species benefit ?

interactions both the
(1) Mutualism

(2)  Competition

(3  Commensaliem

(4)  Amensalism

VVI}O won the silver medal in badminton in the
Asian Games, 2018 ?

(1) SyedModi

(2 P.V. Sindhu

3) Taipeis Tai Tzuying
(4) Saina Nehwal

When did sustainable development goals come
into effect ?

(1)  July 2016
(2) January 2015
(3)  dJuly 2015

(4  January 2016

Who among the following recently won the
special Golden Man Booker Prize, which marks
the 50th anniversary of the prestigious award,
Man Booker Prize ?

(1) Kiran Desavi
(2)  V.S.Naipaul
(3)  Salman Rushdie

Michael Ondaatje

26.

27.

28,

29.

30.

Frefafaa o S T IAE
;ﬁ-mtmﬁmﬁaﬁrm%? ‘

(n TR

@ SRR

@ AR

@) @R

fory sanfecl = SRR A 2R @ werf
I m@m%?

(1) » P

2  HIMGERH

(@) FHgfered

(4) sy

2018 ¥ TRME @ei # b #1 O TF
fr=fafeaa § 9 foem star?

@ SR

@ e fay

(@)~ T g ST

@ R e

YUY (FRAee ) faem oie sad ge o e ?

1)+ ST 2016

@)  SHEE 2015
(3) SR 20156
(@) SHad 2016

frefafes § @ fo e 4 wiafsed w9
‘B9 g eS| W 50e SEd % Suesd H
fafere Meea 87 gat west| st ?

) feeEd
) 9", A
(3) « TEHM &

(@) i Sesh
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31.

32.

33.

PART - I1 / st - 11
(2) Reasoning Ability / qifekeR TEAT

e gee & forrd § 9 g X Y

In family of six, there ave three men X, YandZ | 31, et ufar | <
and three women A, B and C. The family has on1 7, e 7 forl A, B @91 C ¥ zg ufErR
an Architect, a Lawyer, a Professor, a Chartered T qrpE, TH HEE
Accountant, a Doctor and an Engineer. The LE3 ,” SIGaR Q,EF o J f?rﬁﬁﬂﬂ%’l feaR
description of family is given below : a-uhqa;lga;a’ wh g%' R T '
. There are two married couples and two 3H YN & : ;
unmarried persons . sﬂﬁﬂm?{qﬁf i < sxferafea A1
. The doctor is married to Lawyer Tl
; X is married to the CA s <fae o1 fade Fehicd ﬁ Sl e
. A’s father is a Professor : X o faare e THhISST q gem g
¢ The Lawyer is C's daughter-in-law : A =1 fier SRE E |
% Zisnot A’'s husband ¢ T, C Hl g—;{aq\% I
4 Y is not X's son. nor is he an Architect or i 7 AU T2
Professor g ;
; g d 97@747‘{
Who 1s the Architect ? Y, X &1 T i
i @ A o 7 2
® B WX eI I € 7
@)z @ 1}?
Choose out the odd one : @) B “)
Tricycle, Trident, Trifle, Tricolour 32. et =1 ﬁﬁa :
(1)  Tricolour @  Trifle ferafean, e, SI-Ht =, fom
(3)  Trident @)  Tricycle @ fatm @ BE-H 9|
@ @ @ foufem
Count the number of rectangles of any size [ Fifia fopeft g
embedded in the given figure and select the right ol f?ﬁ GEARER i SR ATt Kl
answer from the given options. e s a9 fed A fasey ¥ wel SWH
g |
@ 21 1 48 @ 2
i @ 36 , & 27 4 36
ok ACE FOR ROUGH WORK / 7% T4 o for wrre 18A309
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a;mc! ckwise. Then, he turﬁed'45°clockwwe
) W}mt was h’xs final dlrectmn b e

@ ) th West

Vi W et

i 35 Select the con‘ect alternative from the given
) ones that will complet;e the number series.

el ¥

7,14, 42, 168

(B 1604 @ 672
(3 1008 @ 840

36. Complete the following figure matrix by
selecting the right figure from the given options.

(AALT

stan ls fac ng West., ,Hve tqrne 135","
,and‘then he turned 180° |

35.

36.

'f'wmfaﬂwﬁmm‘tm%mwh wmﬁ

LR wwm%: ﬁmmmaﬁfmﬁ

it fewn & 135"gzm%mmwaﬁmﬁwm !

m%x mmﬁmmrt?
(‘1) aferm @  w-ufm

@ T ) efamtrey

ﬁmﬁf&aﬁﬁwmﬁ?ﬁﬁsﬁmw
o1 T L 2

7, 14, 42, 168,
1) 504 @ 612
@ 1008 @ 840

3 fed T fawen @ adt o3 &1 9 7 e

ﬁﬁaﬂgaﬁwﬁfaﬁ:
ANVANE
1
|
je
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37,

If QUPREMF is coded as DLDSRTO, How | a7.

Would BROUGHT he coded
(I SGFNVAQ @  SGFNQNA
@) SGFVQAN (#)  SGFVAQN

J‘m H”"]“‘ch‘ ':F' [”J] ”‘W” ,‘) 1,*, Lon B

] W
ot i, o BROUGHT ) P e 3y ”’
fogsar o e 8 by
(1) BGEFNVAQ (2 BGFNoN
@ BGFVQAN @ st

“;(;VVACJN

’

38, Ina row of children, Bhavana is ninth from
the left and Ashu is thirteenth from the vight. | 88,  sval w) fad) wfore i IR 1 4 <y I 7y 3
ey exchange their positions and then Bhavana ST &1 A QA 2 1A apy: 1R
becomes seventeenth from the l(!tf;(v- ¥ ;‘“}g:z &, v 75M ard AT o - "; ™
new position of Ashu from the right end of the M -
row. ¥ e % arfieft oy 4 YL 1 121 7o e
(1) 29 @ 20t ( asu @ 209
3) 218t @ 22nd (3 219i (4) 99 i
39.  Select the correct option which is related to t}?e 39. 39 9l fawmey 4 4 T Hitfr it 7e 4 3
third term in the same way as second term is YRl Haiftye § forg A Ty e T8e 72 3 i
related to the first. ¥ A Helfigy
NQSW : MPRV :: CFHL : ? I\@‘S_W SMPRV : : CFgy, . 0
(. BEGR @ @& BEGK @ DEGJ
3 EBGM 4  BFJN (3 EBGM 4) BFJN
40.  Five friends A, B, C, D and E are sittingon a | 40.  f&¥i T T T ity A, B, ¢, D 31 E 28 yar
bench in such a way that : A3 ¥ iy .
@  Cissitting to immediate left of A. @ C, A% Fereaw o 4 2 E CADI
(b)  Bissitting to the right of A and D. ® B AIRDFHTEAmE, H
©  Eissitting to the left of Cand A. © B, CauA®ad op
Who is sitting in the middle ? o § w32 ﬂ 8 D
I D @ A o D g CERA
a9 B (g @ B Y
18 SPACE FOR ROUGH WORK/mamda: forty g . 18A309
2 ! re % § I i
£ C ¥
R 1d ~ RTO0 ]
D e
A
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41.

42.

43.

. Bpeed of internet connection is measured in

¢y
(2) draganddropin recycle bin
(@  select file—s right click—> delete
“gelect file, hit delete key

@

PART - 11 7 9wt - I
3) Computer Literacy / ST W&

Ppm
GHz

&
®

€3]
(1)

Ghps
dpi

The top most row of keys on the standard
keyboard contains . keys, and the
longest key on the I\evbo‘ud i

() function, enter key

(2)  function, space har

(3  alphabetic, space bar

()  number, enter key

FAQ stands for :

(1)  Favourite and Answered Questions

(2)  Frequently Answered Questions

(8)  Frequently Asked Questions

(4)  Favourite Asked Questions

File iwibhvs 0 9 wigis extension stores
and file with extension

stores

(1)  jpeg, image, sound, mp3

(2) bmp, sound, mp3, song

(3  bmp, sound, mp3, image

(4)  bmp, image, mp3, sound

Which of the following actions will not delete a
file on Windows desktop ?

double click on file, hit delete key

41.

43.

44.

45.

ERFEEET . dwd s
(1) ppm Y Ghps
3 GHz @ dpi

TAE SIS W Hi9 51 9698 390 T 9t 3
e 4

HERE, U E

e, TWH 91

TEEEEs, T 91

:"a.{,@{naﬁ!

-
0

D
@)
@

THOFY, F1 34 T
O e ds JAEE |EN

(@ Fafe IEe F[|vEd

THEeyH ol wRel 4
b R g 7

@ jpeg, Fo3, =, mps
42y bmp, &, mp3, T
()  bmp, &, mps, o

4  bmp, a3, mp3, iaﬁ

frafafaa ¥ @ w9 9 o @ Hoe S =t
wiew fecfie T8 w2

1) HRE R S fraw W, el '# ge
@ ¥ awn Junghee fae § g

@ fove wEs - T fas - fedle
@) foae WEe — Del ‘W' g
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46,

47,

48.

49.

50.

1 ile.

Hitting
open a dialogue box for searching a word in pdf
 Culs @ AltF

(~'0mputors which offer information are called | 46,
i and those which seek information
m e 0 alled

(1) - Applications, complex softwares
(2)  System software, application software
(3) Servers, clients

(4) Chents, servers

Email addresses in field are visible | 47.

to all recipients. Email addresses in
field are visible to only the recipient.

(1) To and Ce, Bee
(2 Bee, To

(3)  Ccand Bee, To
(4)  To and Bec, Ce

% aq m nm “W% “F?rf R

7
a1y uEEYE, FeeEs Hieant

(o fowwatedm, vHEa Siean

. 48.
Which of the following is not a type of
printer ?

(1)  Landscape (2) Laserjet
(3)  Inkjet 4 3-d

nkj @ 49,
Choose the best option :

An antivirus program is designed to
computer virus.

(1)  scan device, identify and eliminate
(2)  scandevice and eliminate
(3)  identify and eliminate

(4  scan device and identify

kay and’” 0 ol

Alt S | (4) Ctrl, F

50.

4y FEZ, WA

EEE o Tr"q [ graEa

Ay wesdimua
Sy el 1 9l A

(1) Tod91Cec, Bee

@) BeeTo

3 Ccdaa Bee, To
@ Tod4I Bee, Cc

frefafar i a s A iz T gEr @ &7
1 == @ TR
6) N = @ 3%
Hargq fases 9T :

fem s g?
Ly feaEd #1 @7 F5 99 T IEE

TeaM 9 39 22

@ feams =i =51 = a9 F92 IE =
ELAE|

3) Teama # weam £33 s S aRE F
M

@ m‘q’-ﬁmmﬂaﬂiqﬂgimﬁ
TeEH F

e wEe § o -

<A 8 A Wee & fere emei st gami

@  Ctrl, S @ Al F

@ Ags @ OuwlF
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51,

52.

53.

54,

@

PART - II / 977 - 11
A (4) Pedagogy / foramomex
An itinerant teacher is one whois :

69} qualified to offer special services in

different inclusive /integrated schools
(2)  expertinanumber of curricular areas
(3 a special teacher appointed for a
particular inclusive school

(#  aspecial teacher appointe

d temporarily
on ad hoc basig 5 3

o~ ¢ ol 5 '
The term ‘Grape-vine communication’ refers
to:

(1)  formal communication
(2)  informal communication
(3) advertisement and publicity

@) selective perception

Identify the statements that are consistent with
the social model of disability :

(a) Impairments should be fixed by medical
or other treatments.

(b) Disability is caused by the way society is
organized.

(©) Impairment 1s the focus of attention.

(d  The children are valued in their own

right.
(1) (b)and(d) (2) (a)and(c)
(3) (a)and(d) @  (b),(c)and (d)

A child who reads “dog” as “god” or “bat” as

“al” suffers from which type of disability ?
(1)

dyspraxia

dyslexia

(@ dysgraphia

- dysphasia

6L U FREAAT ST g7 war d o
1 % feru dvaan wre @
@ T T e & 6 e
@) U favra e famem F fem fe
U fodiy s1emmaes |
(@)  srEuTt 7 Hed snuR W s w fasi
ST |
52. ‘Tared HYWU' UR F1 AG T
O e Hio
@ e Fho
@) fouma iR vEr
@ Tafa ey
53. Tr.wkan & WS Aiga & &%y F9A
e :
(@ &fa <l fafec =1 e SRl 4 3t
ST =8 |
() I & P S e a1 S B Tl = 206 A e S ol
39 B T
©  «fa e Sisa Bt 2
@ o= R e W HeeEe B §
O OIR@ @ @3IR()
@ (@ 3R@) @ (), © (D
54. T SIh Sil “dog” el “god” A “bat” i “tab”

Tea &, Freafafes 8 9 frg vor =t foysma |
ifga 2

Q) Tfa-ueaa e (feadiisgan)
W IEA-deed (Tegmfesan)
@) EA-dwea (Temmfr)
(4) o - Ao (feuthimEn)

Yl
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()  H T

@ i

@  orfyeam srfsl ot wrer o
(4)  EUEA § STH

57. favd sreregesa ot sl o foe ' e aewsEy

ol Y § 7
) mmmmﬁ%ﬁmm
qISTEHH |
@ O e & o e wrese S e 61
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e g @ a9y orevaEd S weehl o fore wE
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'“Taﬁé&ﬁm& Mntiamnat fe ) TR ST o e 6 o S e
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8. ST e W E
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69,

60.

61.

625 :

which of the following are ch
features of communication ? aracteristic

(@ :};;:;y;l:es exchange of ideas, facts and
b) [tie a continuous process

(@  Itisbothverbal and non-verbal

@  Itis synchronousin nature

1 (@), (b)and (d)

@ (), (0 and(d)

3 (@), () and(d)

@ (a), (b)and (c)

Which of the followi
ing plans
learner Centl‘ed ? g p ans Inay be 1east,

(1) Instructional plan
2  Unitplan

(3) Lessonplan

(4)  Activity plan

Hearing impaired children exhibit :

(1) barriers in communication by language
(2) Dbarriers in moving around

3) barriers in individuals self-care skills
(4)  barriers in tactile skills

n, the act of dividing

In curricular constructio
will come

content as per the class levels
under :

Selection of content

M
@
e

Gradation of content

Organisation of content

69.

60.

61.

: Classiﬁcation of content

62.

frefafiaa o & 0 @ wimn

(@) ?ﬂ;ﬁﬁ;{ﬁ, Jf qon T H FEE-NEH
®) T T e ufE ¥

© 7 wifse s R-wnfes, T WER H

B B

@ e vt wEee O

@ (@), b A@

@ ) © M@

@ (@) @@

@~ (2,0 (o)

frfefad 3 @ F @ Ao Tl wu el
Ffza?

@y STIRRIRHeR Al

@ TR AN

@ T8 A

@ foman Al

g T (SfR) SR YRR T

(y T g H

@  EA-fR | e

® e ) T Y T ) T e
T =

(4) I i H S

Wwﬁﬁ,mw%mmq@aﬁ

fefere SO 1 T [T S AR ?
@ oo wIT

gy ooy & A

(@) Tom-sRg A

@ fors g, Sl AT

Yaui
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‘r'ph’@’\comept of curriculum development
 excludes:

i (1) | ‘[ﬁ@ﬁaﬁonal considerations

@  Family aspirations

Societal goals
Naﬁonél goals

laboratory should necessarily have :

i e—

o

Demonstration Table

{8

o ahdwiwE e

&
@
@

Ty

64. W%Mﬁmﬁwmﬁmiﬁ%?

e
Oy
&)

&)

s faaw
ofar %t i
atEE O

T v

65. difos! = W w3 ¥ fow uw fagm warmwen o
Ffad &9 [ ¥ o 9w ?

o
@

&
@

i _

5 wwE

wei- Tt worRh
T Ao ol S 9 T
ESGECE |

o ot e

e e

X,

et

-
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1 to suggestad that a te
i gi’i‘i&“‘“’“ vmeation by following
& gweu :Valtﬂern.at;;;:}”;ol%: };rzh;ch of the below
0
e
O
€)]

acher can imprOVe

Six C's and three S's
Eight C’s and four 8
~ Seven C’s and four S's

Seven C’s and three 8's

The _ph.enomenon In telecommunication and
n;;d{a mdustry tontegrate services, content
offerings and means of communication under
one core technology is termed as -

(D
2)
3

@

63.

Multi-media
On-line communication
Convergence

Integrated media

Which of the following is not true about M.R.

69.
; children ?

(1)  They lack in ability to generalize
(2)  They feel difficulty in abstraction

' (3)  They are poor in comm unication ability
4) They can anderstand cause-effect

relationship

"‘ : : 70 A science teacher has joined a rure}l school_ at
 thebeginning of the academic session. Which
 of the following tests he should use ?

A

s $ituational test
Diagnostic test

(3)  Achievement test

67.

68,

69.

70.

Inbasket test

=% yed fom o # By w aqmwﬁmﬁwma
: C siv SEm Aty
o HuR %1 590 v TFrafefies faesd 4 8 s

o fowea w8 &2

(1 TECHITIAS
@ FBCAALS
@ WECsEns
@ \RCHARSTS

i TR ¥ At ® v gen Wl F st

= F1 ufHa R N Fed €7
(1) wHee-Hife

@  HF-eE e
@)  FfETE

@ Féifes Hifem

te-afg weE * ey H o A BF W H
W AE 7
S AT F1 A 5 SYE AW

(1)
@ =% st wied A R
@) I WO A e e €

3 FRU-YUE T H HIH THA €

B

e fagm ¥ foers A fefoes w3 % oid # 0%

refor e H FRYR w3 Frefaten
B | Tl = wan S e ?

1y aftfeafaE wem

@ b o

@  Sueled T

(@ e e
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MM&MWW
Y o liges on et mometary items, which of the
A Iaﬂmlug mm is elassified as

2. Y3 9w 9S4 H9 uE oY v al T
e FE T e I e an =
RIS ke b e i

ST I Hied 909 o9

FEI A IFEATE H SR

<3 SYTE W ety sifem

D
@
(&)

@

Feffe S A T W EE &2

gﬂmmmqﬂmmwwﬁ

@ V9IS I SN SRR e e #
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74. ~ Which of the following

75.

76.

i,

"o

_ computer system ? ' not an element of | 74, f1 F |/ FA-91 d0, FegEs wEd W@ 82
(1) = Internet Q) Nl e e ) e @  wEAm
3) Software S (3  wfean (4) M
gz;:;lﬁaql:?hreiprned E00ds worth® 10 000t | 75 T3 ayoquf qﬁ\ 1 E TR e I B 10,000 1 et
dOClin)e;lt 3R & }())und them defective. Which ST 1 Ay faA | wﬁ»‘ﬁ?ﬂzmw B HA-H
i 1s to be prepared by Rajesh for the o S feran s ?
(1)  Debit Note O A
@  Credit Note (2) AR
3)  Invoice 3) oS
(4  Cash Memo of % 10,000 ) 10,000 %1 T Tl
Which one is not the purpose (objective) of 76.  ferefifi @ @i fordta fomreem fepgeteror 21
analysis of financial statements ? e YIS (3RYA) T 7
(1) to assess the current profitability and 1) o i FAHH S ag g Ll
operational efficiency of the firm 1 STEHTA FE
(2)  tojudge the ability of the firm to repay @ i Er mﬁaﬁﬂaﬁ |
its debt ;
Catll
: to show financial position through i & 2
> balance sheet and profitability through (6) I R E A Fareiyn frafa aan env-wfs @
profit & loss account ARG b B L
4)  toidentify the reasons for change in the @) E e it i 3 e
profitability / financial position of the firm s :
ke ine f
Shree Limited purchased 2 ‘;‘Zﬁ:gﬁamﬁ; 77. o Fafiere AT 40,00,000 F v W WL,
240,00,000, Payable as 26% 10 ¢43 ch at o ST 26% T TR T qen A e
by the issue of 8% debentures of I400eacha i R s,
e debentures are % 400 e AT 8Y% TN 209 WifFTH T
a premium of 20%. How many o g
issued to vendor ? fapn T | ferdkan e ZROTH AL (R 1T
@ 6,500 gs () 6250 @ 6500
LI |
@) 7.000, Wﬁ‘?% @ 6750 @ 7,000
o MWV Y
T

Scanned by CamScanner




] g@,umw which a:omhmm various
nto A uewpmdutﬁ wkmumaa :

@ Synthetical industry

79. Which one is correct ?
{1) Personality never changes.

W Openness to experience is a personality
dimension that characterises someone in
terms of imagination, sensitivity and

cm m‘ -t‘y -

(3) Personality is the sum total of ways in

which anindividual reacts to othersbut |

does not interact with others.

(4  The fit between personality type and
:  pecupational environment does not
determine turnover.

- 80. Anil endorsed a bill for ¥ 10,000 in favour of

' Chinki. Thas bill was drawn on Bijender. On

‘ theduedate the bill was honoured by Bijender.
 Onduedate, which account will be debited by
‘Ba;endermhlsbooks7

’,mmmma ‘

@ v

@ e S

@ T S
ot A A 9 W EE 2

() e W) e e

o) srwE Wi e & ford Aan wn sfi
@ 1 % SrarH ¥ S el Y wed, sy
o Foramen &) fedraen sraenan #

@  oufwe & ad@l w1 oA § i e
s & |y wfafwn s ¥ ulg, 9§
any s T wan

(@) R & YR qo S A
aira gl (fme) | smad Fwdfo A fa
10 £

aﬁa%ﬁm‘r%wﬂ mooooﬁnmsfww
9 o 1w faver fardtes o o o o) 29
rfer e fovsies A forey a1 gt o | 2 fif

“me~mﬂmmaﬁ e
ma
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81.  The first Stock Exch ;
1875 at: ange in Asia was set-up in 81, uform o g ey § ;
k ' oy forfn 1476 | wurtion ta o
(€3] Tokyo : il
(2) Shanghai %
(3  Beijing M o @ i
@ Mumbai A
(3  Hifsin g (dy  mrat
82. 7
%S % 82. 7
Opening stock 85.000 9 §| o0
y grifee Tefaan 85,000
Purchases 3.07.000 y Yo o0
; / £l 3,07,000
Wages 0, 07
48,00
S y gl 48,000
6y raiogn ¢ 25,000 T T A 28,00(
L000
Closing stock 90,000 Siforey <eRe o
90,000
Cost of goods sold will be A7 T A F A #rf
(1)  ¥4,00,000 @  Z3,00,000 1)  Z4,00,000 @ - Z3,00,000
3 ¥3,20,000 4y 350,000 3 ¥3,20,000 @  T3.50,000
83. Dividend is usually paid on: i i : i ekl < 8 -
(1) Issued Capital @ AL
_ 2 |
2y Paid-up Capital @ . SEH A
. 3) e S W
(3  Called-up Capital e i
, : 4) @i gt W
@ Authorised Capital @ ‘Fﬁ
| : | 84 a@é&ﬁmwﬁﬁwaﬁﬁ%ﬂ%m%m
 84. Groupof instructions that directs computeris b
. knownas:
u ) e 9) e
(1) Data (2)  Storage (1) @
- : g T 4 WOE
® Memory 4y~ Program @)
| Y-19
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) Data Query
2) Slnlple Query
3) Parameter Query

@ Summary Query

Dinesh Software Limited forfeited 200 shares
of X 100 each (T 60 called up) issued at par to
Kareena on which she had paid ¥ 20 per share.
Outofthese, 150 shares were re-issued to Rajni
for X 45 per share as ¥ 60 paid up.
be transferred to Capital Reserve will be :

I  T750 2 T2250

@) 6,750

@ T3,000

87. Anaggrieved consumer can lodge a complaint
to ‘State Consumer Commission’, if the value

of goods or services in question, alongwith

compensation :
(1) ismore than¥ 1 Crore
(2)  1s more than ¥ 20 lakhs but does not
exceed T 2 crore
@)  is Iess than ¥ 20 lakhs

‘.is more than ¥ 20 lakhs but does not

o

exceed ¥ 1 crore

85.

87.

¥ o wHT B § W TG R w1 o
E@gg’f&m%' FrEATRTS R Bl 91 ey
T YHR T © ?

@ BRI

2 RSl

(3) Y g

ORI M

ferryr wrgeaeR fafies 4 T 100 999 (% 60 My,

a1 200 FH S HA RS FHL T 9, fom
T8 % 20 wfa Y YA L HH A, 4 fibg
378 | 150 39 TSI IR 45 9 S H, T 60wz
HA gu, g fere 1 i wea | gt
S arett af g

1  T750

3) 6,750

U TR SRR * T2 ST @i’ 3 forap

SRS St Fansil =1 e -

O 19T q afrs 9

@ ¥ 20 ¥E B e 8 wig 2 o e f i
TR

@) ?zomaﬁm‘-@

9 ?'*‘g.m-ﬁaﬁmaqig?]_mﬁaﬁm

- 18A309
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£

}nch One 18 trve ?

‘,l?f') ot 4
- Avcounting i a social woience.

Economic life of an ant

: grt‘u‘m;mlly #plitinto poriodie intervals in
ceordance with the (jo; S

’ (8] Onoer

g oing Concern

Y GO ik gk 2 (L g

;};3 apuaw are <:1m.m;(md BB CUrra L Asuets
A lx‘(“.d tmuu‘w I accordance with
\ceounting Peviod Assumption,

Re‘vepun 16 generally recognised at the
point pf u::x,l‘es in accordance with the
matehing principle.

A machine was purchased on April 1, 2017 for
¥ 10,00,000 and on October 1, 2017, a new
machine was added for 2 4,00,000. Calculate
the balance of ‘Machine Account’ as on
March 31, 2018, if depreciation is charged
@ 20% p.a. on Diminishing Balance method.

(1)
(€)

T 11,20,000 (2) %138,20,000
¥ 11,60,000 (4) %12,00,000

Analysis of comparative financial statements
include :

)
L7
6

- ®

Common Size Statements
Cash Flow Analysis
Tyend Analysis
Horizontal Analysis

. Which one is 2 characteristic of

 transformational leaders?

® 7 ntervenes only
{5 willing to take on high personal risk,
+' . jncasy high costs. ,

Dromises rewards for good performancs, |

Gives personal attention, treats each

~ employee individually, coaches, advises.

if standards are not met.

Ccognizes gccomphgmexgga; o

it
¥

GEPFIEE I8

#9,

91.

Prreufofoss # 41 ' ol %7

(y  orata v it Ak
I i e s w A vt ek
# fapvfor fam W % ¢ -

@ by i A TN A
wA

) e ) T famm e & A
Wﬁmww—wm%‘rm%a

1 w8 2017 F1 T 10,00,000 %1 wE aiR w0
i aa) 1 AT 2017 F 7 4,00,000 %1 TF B
ot @i T | 7z fa 7m fafu 8 20% 53
wm yafi fem A A 41 T 2018 B “FHA
Hﬁ'ﬂwm: 7

% ) S, 1,20,000 2 - T13,20,000
@ = 11,60,000 4 T 12,00,000
forda faail % faverm 3 #fafea %:

1y  wwEs

@ wafafawrm

@ e favermm -

Pt # A TR g w1 -
%7
@ e e W A AT A, TR
mw—waﬁmm%wm%
amm%m%l
@ ,Maﬁm%mmwﬁﬂﬁﬂm
(3, 3 = S 7, e e T
- mygsENL |

@ B wF ¥ ford T H maﬂ'%‘

| F) A E E 7
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93.

95.

\ Wh-ich- one is not a role of public sector ?

(i) Development of infrastructure

¥  Development of proﬁt earming capabilitiee |

(3)  Checking over-concentration of economic
power

(4)  Expanding exports of the country

Which one is true ?

(). Management does not satisfy all the
requirements of a profession

()  Management is considered a two-tier
activity
(4) Organising function examines the

activities and resources required to
formulate the plan

Planning can prevent problems

‘It is a market where low risk, unsecured and
short-term debt instruments, that are highly
liquid, are issued and actively traded everyday.’
This market is known as :

(1)  Primary Market

(2)  Secondary Market
J3)  Money Market

(4  Capital Market

An initiative launched by the Government of
India on September 25, 2014 with the major
objectives of ‘Job Creation’ and ‘Skill
Enhancement’ in 25 sectors of the economy.

- What is the name of that initiative ?

@ ’Unwala Yojana

i i(2) One Nation-One Tax

) Make' m Incha

92

s e A w’wnﬁf,
3 s vl & 3 Soeu 5 U5

4 ToEEEd A

(1) TEY I O S 5 T

@ YIY i f;_ AR AT T Tl o

auq???a,:m—— %

(3) 7'1”-4’&"! “J“I‘O}y

@) FIAYEE, I %rf TETTE AR

T2 U% 990 & 99 $4 SreE an 3
mmamm ETW"V"!?“’; T
FER FEA & :

() wrefhE aEn

2 TedasaEn

@ FIESR

@ A

AT ¥ 25 &5 F TR P rw sty

foe’ % 9= stv & =™ wim 5w o0
25%@2014@@%@37%%&'”}
wmmm%

(1) =AY
2 THTE-TEH
B AETsfem
@ Fhmwwm
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‘ V"’“”*W prepared for e ézm»mmm with
' ultwwdammmwuphmmamw#

;
B0 et Vi
@ Debit Vousher
@ Credit Voucher
U Compound Voudher

101. The ‘Reserve Hank of India’ wag establighed

lt‘l 3
(1) 1934 @r 1995
@ - 1998 ) 1947

102, Which one is correct ?

(1)  Any amount of funds can be ganerated
through trade credit,
(2)  Factoring does not create any charge on
: the assets of the firm.
(3  Rateofinterest offered on public deposits

are usually lower than that offered on
 bank deposits,

{9/ Convertible debentures can be converted
before the expiry of a specified period.

108, Cash collected from Debtors would be doemed

flm Wi % Qﬁﬂ ’fm Q‘M ﬁlg WA g
ot

W mwww
Gy
G A
(d) R Ay

Pty fead B’ ) s g ol
)

191,

iy 19444 1645 i

W) gse il Wy i

102, T 4 4 s o) ot B )

BTt St % v £ iyl )
1 et 1yt T o v § |
sty foase) vl ) agonfersi] s el o
1 4t 1 ) |

waretafie s 1fi ur e S8 8 i o)
BT, o s o e B s A
B9 Al g ) B

- afterdedte oy o Tt st 8 s
ﬁ**wﬂmmﬁ:mm

)
2)

@)
)

105, mﬁmm"*‘wm’
B ‘rmwm
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. Which one is a
“pisks ?

a4, hu
| 194. ARAD cange for bug;
i nesg

: (1) Political disturbg

; nceg 1y
exchange rate 8 hke ﬂuctuation n

Uncertainty rela
from customerg

; (3) Stopp

"
meg to collection of dues

age of work due to power failure

‘ (4) Heavy raing

, "105. Which one of the following 1S not correct ?
_ >(é)/ Partnership is the relation between
persons who have agreed to share the

profits of the business carried
onb
one of them. o

The partners bear the risks involved in
running a business as a team.

N

(3) A partnership firm is not legally required
to publish its accounts.

(4)  According to section 464 of the companies
Act, 2013, maximum number of partners
in a partnership firm can be 100.

106, Which one is correct ?

,_,(—l‘)/ Trade credit is a cost-free source of

finance.

Tyade credit involves implicit cogt.
e in the firm’s

; increas !
With the 1 t decreases if other

 purchases, trade credi
 thingsremains the same.

- v.incz;evase in deferred income I.‘educes i

firm's liquidity.

104,

105.

106.

frafafaa § A *F e Sfay 51 apdy
N ?

(1)  usrfas swfa gan G @ q s
]

@ e @ ST i FgeE Had siffyae
@) fosteft & e & I & FOEH F wE

@ W e

fraferfaa 5 | &9 91 961 76 &7

(1) wEER ¥ At % 4 gy g i
ST | ferell T g wed S el A

% o & e 1 2 forg st e

© oHEEE H T O % T H T H I
Siifigw 1 YRR 6T F1d €1

@) U HERM FE # A9 @l S g
T dunfra: erufem 78 71

4) A TR, 2018 T YN 464 % HIHR,
T ¥ wEERl 1 sifieRan S 1009
T & |

fred g e ade?
(1) ST SUR Fie <l AT~ I €
@ =i SuR sarifed @ €

@) mdaamﬁqmmammmﬁ
it B 3, afi 3 A st

@ st o 9fE @ A ] T
(fafesfedt) ® % & ¢ |

Y -256
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WhmI}, of the follmvmg 18 not a benefit of
e-Businegg ?

s
) Customer Satisfaction
@  Convenience
Personal touch

#  Global reach

116. Job costing 1s :
() Highly repetitive

(@)  Applied when the material and labour
cost can be identified by order number

3  Notappliedin plants making specialised
industrial equipments

@)/ Applied where at different sites large-
scale contracts are carried out i

117. Which one of the following statements is
true ?

P~ There is no separate law that governs
sole proprietorship. 4

(2)  The owner of a sole proprietorsﬁip has
Limited liability.

(8 Joint Hindu Family Business is
controlled by all adult members of the

family.

(4  The liability of all members of Joint
. HinduFamily Business is unlimited.

116, e A & s wr ey -9 ol &

116,

(0 e g
@ gl
&  =feana g

@ s gda

Sife ANT STHE

O srcufves smafogers &

@ e e e s e w e qon
FH ST R S e (et ) g
BT & ehell €

@ = fafere shedfirr sqest fmis s §
S EERERI B IR

@ W RS W e s 8, el i we
WIS IR T 3F ) ) @

117, ﬁﬁﬁf@amﬁaﬁqmwmmna%?

6)) wwﬁamm%ﬁmﬂ%fmm
A 1 A T R

@ WWW%WWW
I e 1

® W%ﬁﬁmwmm-@
Wﬁanmmqwﬁwmmm%,

@ Wfﬂiqﬁanw%mﬁwpﬁm
Sifae srefifir &
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18 Which ane is not the py
B

:Accuunﬂ‘ng? Pose of (Soat
‘ ,yg) product decisiong
i ey ‘giz’fﬂ‘r:;in the financia) position of
@  operational planning ang control
@ Lnui;l‘{ing special decision about ‘make or

119. Which one is correct, in

sense ? modern marketing

&y

‘Market' refers to the place where buyers

and sellers gather to enter into
transactions.

o

‘Market’ refers to a set of actual and
potential buyers of a product or service.

)

Marketing is same as ‘shopping’.

Marketing is only a post-production
activity.

@

Which one is not a feature of global
enterprises ?

o

Huge capital resources

Advanced technology
Product innovation
for creating regional

f,Rééponsibility-

| 118. mmm-émmmwﬂ%? /

(1 e Fofe

@ = w g feafa 0 wn A

@ e feee v

@) ‘weh  EE’ % i H faem ek

fretfefas & @ sy fam ¥ o9 5w §
A A 27

119.

'SR 1 319 98 T R s A el
-4 % foad S Ea 2

1)

@ ‘e F oo G R e dEE
2l

@ farom @i wied’ T # R

@ T FEe T I IR FASe 2

120, e TTHA] F1 HH T TS T
1 Towme 4o SEE
@ wAfeie s i (I

@ s S wREE
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Advertiving HrateRy B (e element of
CReATIN RV WoRaREee.

) Advertisng stiategy i wor coneeted

Wath elertinus advertiing Wedw.

fah Mavketing Wix doos ot consider e’

W M&&mmmuwmw where goode and
SOTVIOSS A1 sold and rendered,

122, Which one s a function of vont acconnting ? i

e Toprovide information about the profit

or Joss est_‘the business as a whole

@ To provide information about the unit

costs and

| | Mﬂhm Pt sy
m*ﬂ* '

i mmﬂ’@ﬁl % P ol ey -,

R
R s e R v

"‘%x@

[ 102 oot ¥ @
” m* N S O ) e

W m W A0 . W %\

TN R

product lines

To record the value of plant and

machinery

@

@

xm““ﬂnwmmmmt’hm
by Not-for-Profit Organisation'on:

¥
4

profits / losses of diffevent |

To provide information about economie |
WW*MW&?M&MW‘ 1

(a) R W Y ®) g oo ae
1 ol

NNMWW o W

S

WA B
Fa A A
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/ lﬂ The portion of the capital w

‘only at the time of wi (ich can bo called |
| eknowaws o0 Pofthe company
- Uncalled capital
2  Subscribed capital

125 A decision to issue new Debentures is :

M ; Capital Budgeting Decision
(2)  Operating Decision
{3» Financing Decision
(4 Investing Decision

1126. Which one is false ?

Sub-fields of accounting are hook-keeping,
financial accounting and management

accounting.

(2) There exists a wide gulf between
accounting and £COoNomICs.

(3) Accounting  means recording
transactions and events, not their
interpretation.

4) Materiality Principle is an exception to

the Full Disclosure Principle.

Which one 18 true ?

Accountin '
of business transactions.
i ' A transaction which increases the capital
oA called ‘Income’. s
‘ The value of human resource
" ag an asset in the balance sheet.

g involves only the recording

ig shown |

194, o w1 ww v W S s e oy i
@ it fisen ) s B, dger ¥ .
() st gof
@ s 4
(@ dfea g
@ o el
196, A s S} WO oo & ¢
@ et st frota
@ e firofa
@  farefrae fiota
@ v frrote
126. frerffur #f & v w e ¥ 7
(y  Ovaer T A e ferdyn Praate
e el Ot ¥ |
@ :wim e saekeren % Ar wrfy g o
|
@ ot @ ad - e A
sfverer wen ¥, A 6 T 2 B |
@) -;nm fergra ool werza fagr AT
|
127, foreiferfes # @ wf %7
M et # e T -2 A
e wnfaer ¥
2) oy - forery ok A offg ot &,
e 1 ,
@  qoET H A e - 0 o
T S T
@

 Accountingis a gervice function-

? v
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128. The Actual name of World Bank 18 :
(1) International Bank

2)  International Bank for Regulation and
Development

(3  International Bank for Development

A

Internationa] Bank for Reconstruction
and Development

129. Which one ig true ?

(1) Financial statements reflect current
situation.

(@)  Assetsshownin the balance sheet reflect
expired cost.

3) Balance sheets disclose information
relating to loss of markets.

Financial statements do not contain
qualitative information.

W

130. Which of the following is a not a limitation of
computer system ?

) Lack of Decision making
. (@  Lackofspeed

(3  Lack of commonsense

‘y)— ZerolQ

Meena draws a bill on Parveen on
August 29, 2018 for 1 month. The due date of

the bill will be ;

131.

(1)  October1, 2018

A2

(3)  September 29, 2018

October 2, 2018

(4)  October 3,2018

129.

130.

131.

1) SR I

@ ferd T PRI TS &

@ o 37 SR A

() EHTR i S TR A

FrAfefad § @ P HE 82

) faeia fecor adar fef @ <l ¥

oy g i e e T <
gl

(3)  qOIA TSR i €I Heitfl ST &1 yhe
Eachdl

@ foxita foeol ® TureHs STHER T8 S

FFRR YOIt shT ST, = H | -t =g 2
O g =5 et
@  Tfq & s

@) W TEEeE 5 oy

@ TR,

@ 13w 2018

@ 2 IR 9013 -
@ 29 Radew 2015

@ 8 SRmo0g
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; w‘hjugh ol the follow,
© Responsibiligy o P it 7 “ Pt

. Stud
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(2) I)nm:rm'nmm‘v fog
¢ »:punmhplﬂy
@ B
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\ 188, Which of the followin

in the contrae, of Jife ¥k principle iy npplicable

BT anes 9
Insurable Interent
(2)  Subrogation

(3  Indemnity

(4)  Contrbution

134 Cattle breeding farms, poultry farms and fish

hatchery come under which type of
industries ?

(1)  Extractive industries

(2) Secondary industries

0 Genetic industries

(4)  Processing industries

.35 ‘Which one is a strategxc HR initiative for
managing shortages ?

(15 Reduce sutsourced work

i CZ)/ Employee training
Switch to variable pay plan

Sﬁbcontract work to another company

182, Py & i o o refoy sscafae o wa
LARBTE T &

(1 iyt

Gy fadendty yaraten
(h M gwrafam

4y sy yuomfue

o v 5 gqaen # Py o A - fagen
vy den %7

(y e vy foa
(2 v gein
@  afafd

(4 oA

134, TY-TER T, Ph-TER I 90 HER e

Feim fam wn %zt F A § 2
) Freio FEm
@ fodras zEm
€) i
@ wfFEE =

135, FiFdl % wEyA ¥ AFE O 3 0FIGE T8

FA-H 27

(1) IEFERERa FE H 9T

@ I % e

@ T A AT

@ o e = e A s-EE
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8&5. Which of the following 18 not
Financial Market ?

a function of

: ..(f( Facilitating Housing Loan

@

3)

(C)

Facilitating Price Discovery
Providing Liquidity to Financial Assets

Reducing the cost of Transactions

137. Which one of the following relates to trait
theories of leadership ?

¢y

"

3

@

Specific behaviours differentiate leaders
from nonleaders.

Employee-oriented leader takes a
personal interest in employees’ needs.

The theory provides a set of rules to
determine the form and amount of
decision making in different situations.

Theory that considers personal qualities
and characteristics.

138. Which of the following is not a characteristic
of Management ?

1)

@

Managementis all pervassive.

Management is multidimentional.

ek i ,,,(3{ Management ig a tangible force.

‘._M,allag‘ement is a group activity.

(4)

136, e o & -4,

137.

138.
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189, = arz wamﬁmm% W

fiards 8ale of gooqy el T ;
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- 148. Capital structure of a company related with :

(1)  Shareholders’ Funds

‘@/ IJong term Debts, Preference Share
Capital and Equity Capital

(3)  Debentures and Loans

4)  Total Assets less liabilities

149. A company purchased assets of ¥ 10,00,000

and issued 10% debentures of Z 8,00,000 to the
vendors as consideration. While recording the
above transaction in J ournal, the balance of
< 2,00,000 will be credited to

(1) Goodwill A/c

(2) Profit & loss Alc

(3)  General Reserve

NC8

Capital Reserve

150. Downward communication is not used to:

(1)  Explain policies and procedures

(2)/’ Provide feedback about the progress
toward goals

(3)  Point out problems that need attention

(4)  Assigngoals

-00o0-

148.

149.

150.

mmﬁﬁmwﬁﬁ%

) e b

@ WW,FWWW@@W
it 9

@ o e 9

@ e e A 9 A e

w FUA A T 10,00,000 F ot @i ag

fere ) wfawe % &1 H T 8,00,000 F 10%
o Pt T | SURIER @R i ST 3

SHfige 3@ THA T 2,00,000 H I SHI foRa s

@ efdEd

@ ev-e a e A

@) S e

@ ISt EEad

e FY9O1 1 39 e A | farass ford
ERISIG IR

@) Ao & wEfafe w5t s=wen s

@) W SR A areh o i  pffe
e

@) M A AT TEE 1 Seord FE
@ &g ffvee e

-00o0-

xoAsond

Scanne(.j by CamScanner




